Reg.No: | | ] ] | ] ‘ | 7. [ a. | From the following particulars relating to the capital | CO3 | An 13
structure of Blue Limited, Calculate the Overall Cost
. of Capital using
SNS College of Technology, Coimbatore-35. a) Book Value Weights and
(Autonomous) b) Market Value Weights.
Internal Assessment - 11 Sources of Funds ngu'; \'\;';Lkeet
Academic Year 2023-2024 (Even) B Equity Share Capital 45,000 | 90,000
Second Semester Retained Earnings 15,000 | -
Department of Management Studies Preference Share Capital | 10,000 | 10,000
23BAT611 — Financial Management Trl?eeggtre]trutrae; cost of different j)?]?(?e(')s of fii(z)i’r?(?:is
Time: 1 % Hours _ Maximum Marks: 50 Equity Share Capital 14% Retained Earnings 13%
Answer all the questions CO | Bloom | Marks Preference Share Capital 10% Debentures 8%
1. | Recall the acceptance rule of NPV. CO2 R 2 (or)
2. | Outline the meaning of Internal Rate of Return CO2 U 2 b. | Examine the capital structure theories in detail. CO3| An 13
3. | Define Optimum Capital Structure. CcO3 R 2 8 | a. | Case Study:
4. | Spell out the concept of Cost of Capital. CO3 R 2 Thedfol.low_icr;g pgrtlicula(;s relate to two machines CO2 An 14
- - roducing identical products.
5. | Explain Operating Leverage. cos U 2 Particulars Machine A Machine B
PART B Original Cost | Rs,1,00,000 Rs.1,50,000
(2 * 13 Marks = 26 Marks & 1*14 Marks = 14 Marks) Life Years 5 Years 5 Years
6. | a. | Calculate the Internal Rate of Return. CO2 An 13 Profit Before
Initial Investment Rs.60,000 Depreciation
Life of an Asset 4 Years Year | 30,000 40,000
Estimated Annual Cash Inflows: Year Il 15,000 45,000
Year Cash Inflows Year Il 40,000 50,000
l 15,000 Year IV 40,000 24,000
I 20,000 Year V 35,000 71,000
11 30,000 Tax Rate 50%, Calculate Accounting rate of return
v 20,000
or
— - —— or Calculate operating, financial and combined leverage
b. | X Limited is considering the purchase of a new | CO2 | An 13 under situation A and situation B from the following | CO3 | An 14
machine. Two alternative machines A and B have information:
been suggested, each having an initial cost of Installed Capacity 1,000 units
Rs.4,00,000 and requiring Rs.20,000 as additional Actual Capacity Utilised 800 units
working capital at the end of 1st year. Earnings after Selling Price Per Unit Rs.20
taxation are expected to be as follows: Variable Cost Per Unit Rs.15
Year Cash Inf_lows Cash Inf_lows Fixed Cost:
of Machine A | of Machine B Situation A Rs.1,000
1 40,000 1,20,000 Situation B Rs.1,500
2 1,20,000 1,60,000 Capital Structure:
3 1,60,000 2,00,000 . Financial Financial
4 2,40,000 1,20,000 Particulars Plan | Plan II
5 1,60,000 80,000 Equity 5,000 7,000
The company has a target of return on capital 10% Debt (10%) 5,000 2,000

and on this basis, you are required to compare the
profitability of the machines and state which
alternative you consider financially preferable using
NPV Method.
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